RERIZER HFCEIBIER

)0
Y3y
EwlEs5Al

A1 (4E7)

ﬁ{‘\% :\ L/_\EJ_JTI’/% ..................... 1 /2T
(150¢g)
YA —=RF =X 160¢g
B e K2
L/:E \JH_ ........................ /J)}Q
* V2HY FO—— IS4
*a—'o‘;% ........................... 80m ]
*E&H{% ........................... j(é DZ
/J\Hﬂﬁ ........................... 201@
jj?/\o'j&— ............... j(éL“/1 /2

<:) 1B 7 Ok &l
TRILF— : 209kcal

EhAIE<E  83¢
2070  aiEiEss 00

DM LEEEFT v FINR=/N\—T8H. SOOWDEFL VI T2530%)
FEDER L. KEDD T B,

@ KD UIe8BEZMNDIVICAN., SBIECETROOSNCRDFTETELED.

Q QOMIIVICNANIVIN=RTF—Z, #ME. LEVAZENZ TREE D,

@ )k OMRPEREENETCI—E—REED., BEEANTHERERZHAFTE D,

O BED)—ADRRICEDBEDICHY TICANTHAEETHDT,

©® BNDERIIC. DOP/N\NDF—ERC URETIROMNTS,

KT b+

c REEZFEDSCLT, [CZDAHOU—ZDy k!

c CAIEKBIZ 28 IDTO U ILFBICEO
cBEZLoNDEKREDDTDTEN. BNULIEDNA Y ETT,



